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704 |/ FR —E0h ZERO.1IJR | 6 1:07.53 1:04.96 2:12.49 1

702 [IUE FEX PELE ULSEWN —88 0 | 1:11.45 | 1:09.44 | 2:20.89 2

701 |5 EA UM #HLWLA ZERO.1JR 6 DQ 37
703 |E = £208 5 NEC 5 DQ 15
705 |BRJE I LEIES OOH =FSF5 | 3 DQ 17
INEE B

EJ - " R 1x8 2%H8 =111

707 |BE 24& T=13tmt DLy ZERO.IJR | 6 | 1:0456 59.65 2:04.21 1

708 |RKEH EH  |BYE £LTA = 0 | 1:1439 | 5529 | 2:0968 | 2

706 |/ EBE CEDLLIIT ZERO.1JR | 6 1:08.15 1:0463 | 2:12.78 3

709 |/ RIh CED-I13 ZERO.1JR | 6 1:08.88 1:04.14 | 2:13.02 4

710 |BAlL #E2z HEvE LiTnE ZERO.1JR | 6 DS
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711 |3 B 2L £xH ZERO.1JR | 6 51.35 50.81 1:42.16 1
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712 [TB Z2E£F [2B6% =-&C JFE 8 |~ DQ 37
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EJ " . g 1%&EB 2&H o

N | BB MG R INo | s4h | Sqn | 54 |WE|WE
716 | =M BF {EFah Lo — g 0 52.53 51.34 1:43.87 1

715 (R FRid HEOE HE =F5F5 [ 3 | 1:.0058 57.97 1:58.55 2

719 |Kig £= EIE - JRE— | 2 | 1:0544 | 1:03.25 | 2.08.69 3

13 |# BF 4L 1A )=~ | 9 DQ 37 |-
714 [mHF mMFF |[OhL hTFC JIER*E— | 2 { DQ 37
717 |3RE BF FAES BT JNiFRAF— | 2 DQ 37
718 |BH HH WLLY YT NEC 5 | " Da 19
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724 |BE —R&  |GUf- AT U= — 0 | 4733 45.52 1:3285-1 1

723 |REH Fah [BYi HU3 = 53.02 51.10 1:44.12. | 2 -

728 |5+4 B DB MY #Wi2B | 10 | 1:.01.44 | 1:.0064 | 2:0208 -| 3.

725 |8 BE b=t 5hl wWaEZE | 10| 1:0348 | 1:02.61 2:06.09 4 ]

726 |3t E B4 LWD3Z B3F1F WAPEE | 10 | 1:03.70 | 1:10.85 | 2:2355 | 5.]
720 |&SH BA LLEHZE ZERO.1JR 6 DQ 37 ]
721 [IUE & BELE S5EW — % 0 DQ 37
722 |SRBRE E£E  [#<F SLVA HAPE 10 DQ 37 -
727 | B8 B LLIFL BEE wAE2E | 10 DQ 18
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729 (¥ BE—  [FOL UpSLb JINGRF— | 2 DQ 37
730 |[EiE (& f=hEL of-% 52 1 DQ 37
B+ E
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731 |t B Gk 25 UHH JFE 8 59.28 56.29 1:5557 | 1

733 |[{EBE IEKHER [&&5 L&31=35 NEC 5 1:07.58 1:05.65 2:13.23 9 I:
732 |JIl.E I hMhhd DLl Wwas)ig | 4 DQ v o 37
BF D

g 5 . iRl 148 2% H =111

o | BB SOBE | OB N | san | s | squ |BE|WE
736 |2 B IZL A2yl B 1 52.01 51.18 1:43.19 1

737 |EH#H EH= ZLLY ZLVES -3 1 53.39 51.82 1:4521_ | 2.

738 | F0H kL NEC 5 55.28 53.22 1:48.50 3 .-

739 [N B— MHED (FLVE ZERO1JR | 6 51.23 1:17.42 | 2:08.65 4

743 |8 W|/IT b=l HFpE | TSI | 4 1:59.09 53.40 25249 | 5.

734 |HE XB VD3R AHE RZ 1 DF ' 3
735 |BJI B BLhbh  HEDL =FSFS | 3 DQ 41 |
740 [JI|E & Moh# B L ¥-2 1 DS -

741 £k —*% =5 hEB 3 1 DS .

742 | )% v-_m hhito MTUA | =FAFS | 3 DS
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o | BB SR BN | 844 | 514 | sqn |0 WS
760 [#IR X2  |HLED HE NEC 5 49.93 49.45 1:39.38 | 1 |

761 |B+ ##H =5 HEDY W) | 4 50.21 49.35 1:39.56 2

750 |B& 3CEA LE i+h= NEC 5 50.21 49.92 1:40.13 30

759 |FHFT ZFER $YLf= S50 WFS)Ig | 4 51.88 51.38 1:43.26 4 -

755 |t E— Ehn LALS Bz 1 52.09 5134 | 1:4343-| 5 -

754 |¥2E F £ VAL -¥-2 1 53.35 50.89 1:44.24 6

751 |B&p —i& Xf=Hh AFTOB | LTI | 4 5467 51.63 1:46.30 7 -

752 |HIiR FIT PEESDHD UOTHE| JIIGRF— | 2 | 5842 55.62 1:54.04 8
753 |80 | TES VAL JIgRE— | ‘2| 5935 57.84 1:57.19 9 -

747 (BF% AT —D#H VEL JFE 8 1:00.17 58.28 1:58.45 | 10 -

748 |[faEX —= {THE HHDY JIRF— | 2 1:04.71 1:00.98 2:0569 | 11 |

746 |5|4 IEER VEL FxHhE 2 1 1:0659 | 1:.0157 | 20816 | 12 -

762 |EHE =L &83 NEC 5 1:23.85 4935 21320 | 13 -

758 'EE FH SHLE VThHE JFE 8 2:01.14 51.81 2:52.95 14

744 [EE KEKBR |A¥r S51=35 NEC 5 DS .

745 |BHHA (& WLWLfE Eo& ¥ 1 DS

749 |8 BAER |obIEL YnSt=35| JIlBRF— | 2 DS

756 (A & =t HOB | ¥4 1| DS

757 |HE ® PixESh £ NEC 5 DS
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770 | B {LEE L5~ WS | 4 47.25 46.19 1:33.44 1

T |BHE FE | BHE 58H L. ¥4 1 48.30 47.62 1:35.92 | 2

767 |R{E ES Ht LAZE =FESES | 3 54 45 53.34 1:47.79 3

766 |&H & LLELIFS ZERO.1JR | 6 54.07 54.14 1:48.21 4

772 3B HAI =hv FxOY JGRF— | 2 55.72 53.45 1:49.17 5

763 |FAIL 3R HEDLE HDD =F5F5 | 3 59.07 57.60 1:56.67 6

765 | EdE  |BHhEFE v JIlgEa-A"A [ 9 | 1:00.00 58.13 1:58.13 | 7

769 [BRIR &4  [LEFES VA0S | SESES | 3 DQ 37
764 | TR Y FEhE Wgsjiig | 4 DS

768 |[INAIR —LIE Lo =FSES | 3 DS
BF A

Ed - . : |FFR| 1%FB 2& B a

o | BB | SIS L m B S | sqa | srs w
787 [ e [IELA LBY WAZEE | 10 | 48.12 47.63 1:35.75 | 1

773 | B EF {EFEM 5L — i 0 48.74 49.22 1:37.96 2

784 |#xF PEFE  |FOL f-hhE ZERO.IJR | 6 [ 5271 51.08 1:43.79 | 3

774 /M1 X Ehh LSt -2 1 54.49 50.79 1:45.28 4

778 |.EF E MBS EMZ NEC 5 51.25 1:04.46 1:55.71 5

775 |RE &= LhtE #bpE =FS5F5 | 3 | 1:.01.22 57.24 1:58.46 6

776 [iEiB BEST b= Y5713 | LFE)ig | 4 1:02.31 58.16 2:00.47 7

786 |¥ B BHESH b HxFE [ 10 | 5854 1:17.82 | 2:16.36 | 8

785 B 4 =HEs B39 1 HWAFE | 10 | 1:1280 | 1:0862 [ 2:2142 | 9

782 |F/AK BEE HYE S50 #HxFE | 10| 1:1350 | 1:1828 | 2:31.78 | 10

783 |#MHA X& VAT =Lt WAEE | 10 DF .

780 |=1L FE HOFE ELE mAEEE | 10 DF

781 |HEF BEA LoD [FroL WAZE | 10 DQ 36
777 |Hp E#t f=feh b= NEC 5 DS

779 (BRIl EEZ HIVE HnE ZERO.1JR [" 6 DS




